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a) MEREE: FUL: 2% X BLH+1A, HE: 2% X A+1kV;

b) (RS B £+ (B%XREIA) , HE: + (5% XIEHIKY) |
o) Mt R (V) = 0~250 AJf;

2. R EEHSH:

a) e E (kV) : 10;

b) HrH R (kV) : 100;

o) IR (mA) : 1005

d) MEHH (VD 1005

3. EESAL

a) MEJEHE: AC: 0~150kV; DC: 0~210kV;

b) MIEKSEE: AC: 1.5%%: DC: 1.0 %%,
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a) MtFE WA (md) : 0~10;

b) BHPE R (mA) : 0~10;

c) ZMEHR (mA) : 0~10;



d) AR ) ¢ 0~360.

e) MEKE: + (2%+1 4N
f) WEVERE (md) : 0~10;
5. HEFFESEE S

a) it I (mA) 25

b) & EL R (kV) @ 1205

c) SLPLVEH: <1%;

d WERE: 2%,



